HEKREF (FAER) 0 F AV EBRM AR EERBERETE

A ERR29GETH 28 A (42) 14004y BRAL
B RS S A B 2P
it %, w1 [\ %2 [\l =
(T-H) (T-H)
T S A 6,110
2| vxxE =T YT W 5,980
3| R R R T ¥ 6,690
| w Ak &R TR | e
| w A TR | ® R
o Rk R A | Tew
TS S B DY 5,700 AL
L T A O A 6,980
9| Bk zraT ¥ 7,410

FERAFIIALEICRESh -5 T éﬁ %’ \ZIHE B N OV T B Al AR 4 KR N &
L7=4:48 (1 RO SEBIIEIE T % 3, A RO AL TH D,

< AFLESH#ASE 5,700,000 (RESFE 6,156,000 ) T
MREet = o=7007 I[CihE,
F & ffi A& 7,410,000  (GHEFLR OHG TS L BiAE Y REAERR L 7242 58)

EREDLBVIEIRN T LAFE T 5,

WRR294ET A 28 H

Wed AURFEZERBTE N SLRE R BB BEIEH AR R AR IR M3




